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Hffi A TROREER — R THIIEEREEMDME— 5 (EEH - XAR)

R (G E ' 2 B it () | Zomhish (1) | st it () %ﬁﬁfﬁﬁ;ﬁ: %ﬁ%ﬂ;ﬁ% %E@%%
FRE—-1 |FTRE-3 |TREXSET6%E 144 3, 070, 000 3, 150, 000 3, 260, 000 2. 3. 6.
Hige— 2 H— 4 HRXAB=TH2503% 981, 000 1, 010, 000 1, 090, 000 3. 7. 11.
-6 H—2 HXAARARETHI36 7% 1 1, 760, 000 1, 790, 000 1, 830, 000 L. 2. 4
-8 -9 HEXEwm—TH701%6 1 1, 160, 000 1, 170, 000 1, 190, 000 0. L. 2.
BriE— 9 Frie— 17 | FEXeHEES—TH182%3 24+ 588, 000 595, 000 607, 000 L. 2. 3.
BiE—12 |HiE—4 e X HT 6 2 8 710, 000 730, 000 735, 000 2. 0. 3.
-2 R — 2 R —TH10®/E27 2 901, 000 907, 000 920, 000 0. L. 2.
X~ 5 =7 HEXELMTH310%3 2 695, 000 705, 000 720, 000 L. 2. 3.
=7 OE—14  |SOSR/PANZTH1LI9%19 788, 000 798, 000 810, 000 1. 1. 2.
BHE-1 BH—4 BRXEHEAR—THL16%6 671, 000 675, 000 685, 000 0. 1. 2.
EH—4 BEBH—-1 EHXAESZTH1 7%&54+ 389, 000 392, 000 396, 000 0. 1. 1.
Lo — 4 Lo —7 THRXM - TH43%28 338, 000 342, 000 346, 000 L. L. 2.
sl — 2 s =7 X ERIBGE-TH270%70 985, 000 999, 000 1, 020, 000 L. 2. 3.
=5 )-8 SIXPEPIE " TH255%5 510, 000 525, 000 541, 000 2. 3. 6
HE—1 HE—6 HEXHHBAE -TH123%S8 903, 000 917, 000 931, 000 L. 1. 3.
HE-5 HE—-12 HEXHRF-TH2153%22 636, 000 643, 000 668, 000 1. 3. 5.
KH—5 KHE—30 | KHEXHEREH@MUTH28%S5 615, 000 625, 000 627, 000 1. 0. 2.
KH—8 KE—18 | KRHEXEHKAZTHS34%E 745 408, 000 412,000 420, 000 1. 1. 2.
KE—11 [Kk@—2 KEXABNFEMNTHG6 89%10 474, 000 4717, 000 483, 000 0. 1. L.
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KH—16 [KH—22 [KEHRFHHEH_TH120%3 375, 000 378, 000 381, 000 0. 0. L.
RKE—17 [KHEH—26 [KHEXKHFEP=TH4LI84%F2 353, 000 357, 000 359, 000 L. 0. L.
HHA—-1 [HHA—-50 [HEAKRE=TH271%14 580, 000 584, 000 588, 000 0. 0. L.
HHA—11 |[HHE—2 3 |[HHAXARHEH_-TH668%165 657, 000 662, 000 667, 000 0. 0. L.
HHA—17 [HEs—2 [HHAX%ELXJAETH33%F15 637, 000 640, 000 648, 000 0. 1. L.
HHEA—19 |HHHA—25 |[HHRXZERLTHG6 163% 19 531, 000 534, 000 538, 000 0. 0. 1.
fHHA—22 |[HHHA—2 0 |[HHAXKEBENTH3 34%F1 74+ 574, 000 579, 000 584, 000 0. 0. 1.
fHHA—36 |ftHAE—2 2 |[HHAXMAMAE—-TH138%F 13 475, 000 478, 000 482, 000 0. 0. 1.
HHEA—41 [HEA—19 [HEAXKEZAIMNTHE4157%6 280, 000 281, 000 282, 000 0. 0. 0.
HHA—45 [HHA—1 3 [HEAXESHIT ZTHS 2 1% 1 719, 000 722, 000 734, 000 0. 1. 2.
BER—2 A —2 BERXTER7 A —TH26%6 1, 030, 000 1, 050, 000 1, 060, 000 1. 1. 2.
WA —5 R —7 BARXAIT—THOI%1 3 589, 000 596, 000 603, 000 L. 1. 2.
PR —6 B —6 BEAKXKILET1 06 754 14+ 1, 010, 000 1, 020, 000 1, 030, 000 L. 1. 2.
HF— 1 HiEf—14 |HHEREE=TH153%4 419, 000 421, 000 424, 000 0. 0. L.
s — 7 iEF— 3 FEFX R =TH1&17 — 563, 000 572, 000 — 1. —

P —1 1 HEy—1 R TH48%&2 7 524, 000 527, 000 529, 000 0. 0. 1.
ik — 7 BA—20 |[AUXAFLIL—TH370%k4 553, 000 559, 000 572, 000 1. 2. 3.
Bgit—12 |iE—21 |[KUEXKHKRALZTHLS5%KA4 434, 000 438, 000 447, 000 0. 2. 3.
Eii—14 |EiE—38 MAXHER—THS6 1% 9 398, 000 402, 000 406, 000 1. 1. 2.
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R G E ' o B it () | A |menar | G | e | et
Bilr—18 |Bii—42 [BEXEHKIEZTH23%F11 507, 000 512, 000 520, 000 L. L. 2.
ik—20 |IE—33 |BUEKK@=TH253%3 558, 000 570, 000 586, 000 2. 2. 5.
Bit—24 |BEii—25 [IEXFEHKELTHG6 4% 4 489, 000 498, 000 504, 000 L. L. 3.
if—25 |HiE—28 |[HKUKTHE=TH186%1 8 399, 000 401, 000 403, 000 0. 0. L.
BE—4 gE—-7 BEXT)—TH15%&13 480, 000 483, 000 490, 000 0. L. 2.
B2E—8 BE-11 |BEBXKIKRE—-TH26%3 528, 000 532, 000 542, 000 0. 1. 2.
-2 t—12 X EFRE—-TH26%1 84+ 439, 000 445, 000 452, 000 L. L. 3.
sl —3 sl —2 MR ZTH 2 1% 3 54+ 374, 000 377, 000 384, 000 0. L. 2.
WG — 4 HiE—23 |BiGEXKEBFLTH47EHT 306, 000 307, 000 309, 000 0. 0. 1.
WiAGE— 8 it — 2 WG AN TH 2 1% 7 343, 000 345, 000 349, 000 0. 1. 1.
BiE—10 |BiE—17 |[BEXKILET L 0% 4 452, 000 454, 000 460, 000 0. 1. 1.
BiE—11 |[BiE—27 |[BREXER=TH121%9 370, 000 372, 000 377, 000 0. 1. 1.
I — 5 ME—29 |[MEXEH=THS19%20 360, 000 362, 000 364, 000 0. 0. L.
i — 7 I — 4 HEXEfAE-TH1591%46 371, 000 372, 000 375, 000 0. 0. 1.
ME—17 |[#ME—12 [MUEXEA-TH2211%19 367, 000 369, 000 372, 000 0. 0. 1.
HHE—-—20 |#ME—-35 [HEXBEII-"THG628%2 3 389, 000 390, 000 393, 000 0. 0. 1.
WE—30 |ME—60 |MEXKRKR=THOI15%K26 408, 000 410, 000 413, 000 0. 0. L.
HE—35 |[#E—10 [HISKKRFERIANTHSO08%G6 243, 000 242, 000 241, 000 A0 A0 A0
B—12 |BE—13 |BYXK#EH-=TH22%10 429, 000 432, 000 438, 000 0. 1. 2.
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R Rl e ] & ' it B somsmins () | ot | | G | Gt | e
BM—13 |[BY—30 [RVXKEERASATHIOE?21 203, 000 203, 000 203, 000 0. 0. 0.
BN—14 |BY—45 |[RYEMOBE_TH19%?2 341, 000 342, 000 344, 000 0. 0. 0.
BM—16 |B¥—35 |[BYXKEMEAMTHLIEG 234, 000 235, 000 237, 000 0. 0. 1.
B —25 |BM—34 [@YXEHH—TH32F8 253, 000 254, 000 257, 000 0. 1. 1.
wfi— 9 FHi—27 |EHXEF—TH6 1E1 359, 000 360, 000 361, 000 0. 0. 0.
Fffi—10 [Effi—1 PRI =TH104%5 345, 000 346, 000 347, 000 0. 0. 0.
Fii—14 |BEffi—19 |[EMXAC=TH10%&4S8 216, 000 216, 000 216, 000 0. 0. 0.
A= 1 3 [{LF)ll—4 0 L) IXHEELTH6 &2 4 382, 000 386, 000 391, 000 1. 1. 2.
TR —20 [lmA—3 7 [[LAJIKF/NMAII - TH4327%4 264, 000 265, 000 266, 000 0. 0. 0.
TA—21 [[TF)—25 [[TAJIXAEETH 143 7%2 313, 000 317, 000 319, 000 1. 0. 1.
TR —22 fLAll—5 [LANKFNNEASTH2676%1 0 340, 000 341, 000 342, 000 0. 0. 0.
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NEF—23 [NEF—89 [NEFHIHTHITS8 6 7% 34 130, 000 130, 000 131, 000 0. 0. 0.
NEF—46 [\NEFr—2 |NEFHIrLEIT—-THS552%9 267, 000 270, 000 272, 000 1. 0. 1.
NEF—47 [NEF—1 |NETHOLABE_TH45%K1 4 142, 000 142, 000 142, 000 0. 0. 0.
NEF—48 [NEF—21 [\NEFHKFHEAIYTEL 82 7%5 157, 000 158, 000 159, 000 0. 0. L.
NEF—49 [NEF—40 [NEFHHREINIT1EALO 132, 000 133,000 134, 000 0. 0. L.
NEF—50 [NETF—68 [NEFHFRIET 1 22%5 74, 000 74, 000 75,000 0. L. L.
NEF—51 [(NEF—76 |\EFHi#F26%F1 3 152, 000 153, 000 154, 000 0. 0. 1.
SMll—=14  [SE)Il—23  |NEJIHH#ITETHL 6 7% 2 84+ 283, 000 284, 000 285, 000 0. 0. 0
SMJN—15  [3EJI—13  [SEJIARETETHA4 7%5 227, 000 2217, 000 228, 000 0. 0. 0
W — 7  |RET— 1 (REBHEEFANILTH 1 8 3 9% 2 34+ 574, 000 585, 000 600, 000 1. 2. 4.
“E-9 “JE— 3 CERAODSTHEL9 2% 1 — 329, 000 331, 000 — 0. —

“E-12 |ZE-11 |ZEHALNTH639%14 — 365, 000 367, 000 — 0. -

HHE— 12 |EHHE— 8 HHETATMAT =T H 4% 1 3 159, 000 159, 000 160, 000 0. 0. 0.
ME—12 |FHE—10 |HHHEGII - TH45%7 286, 000 287, 000 288, 000 0. 0. 0.
Wh—15 |FPF—21 [FhhiHRir=TH25%17 277, 000 278, 000 280, 000 0. 0. 1.
MP—18 |H—25 |FHHEIT=TH31&76 264, 000 265, 000 265, 000 0. 0. 0.
M — 9 BE—12 |WETHEMETNTHE250%7 4 220, 000 221, 000 221, 000 0. 0. 0.
A — 1 =13  |dmmsm o e —TH16%23 349, 000 353, 000 360, 000 L. 2. 3.
A — 8 A — 9 A TR ARSF BTN TH2 991 9 242, 000 243, 000 244, 000 0. 0. 0.
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FH—13 |Fm—25 |FAHEROHOULFE_TH24%5 341, 000 343, 000 344, 000 0. 0. 0.
fH—13 [AfH—44 [ETHTEE)I-TH16%16 157, 000 157, 000 158, 000 0. 0. 0.
FfH—21 [ATH—20 [ATHWARAEE—-TH1880%14 153, 000 153, 000 154, 000 0. 0. 0.
ffH—28 [ATH—39 [ATHTS LEH—TH23%&26 197, 000 198, 000 198, 000 0. 0. 0.
ffH—30 [ATH—70 [ATHTTENFELTH3583%96 176, 000 176, 000 176, 000 0. 0. 0.
MfE—40 [0TH—5 MTHTHIT =T H 5 4 9% 54+ 276, 000 278, 000 279, 000 0. 0. L.
FfH—41 [FTH—13 [ATHTMEERTH 8585 7#%4 1 112, 000 112, 000 113, 000 0. 0. 0.
MeH—9  |heH—8 |EHTTEI=TH2129%7 331, 000 333, 000 335, 000 0. 0. 1.
JNE— 3 INE—=19  NVERTEEIT—TH146 0%8 229, 000 229, 000 230, 000 0. 0. 0.
INE—5 /NE— 4 INETAE NI —TH8 0 7% 9 294, 000 296, 000 297, 000 0. 0. 1.
HE#— 3 HEf—29 |HEFH%E)II10EFL 2 203, 000 204, 000 206, 000 0. L. L.
HEf—16 |HE—25 |[HEHMHIANLTH2 4%4 227, 000 229, 000 230, 000 0. 0. L.
HAIL—6 EAL—1 RIS =T H 4% 1 5 246, 000 246, 000 248, 000 0. 0. 0.
WAL= 7  |EAIL— 3 R RS T B 5% 4 162, 000 162, 000 163, 000 0. 0. 0.
EasF—7 |EoF—5 |EosFhiAa_TH7%H1S 254, 000 255, 000 255, 000 0. 0. 0.
[E— 4 Exv—11 [EZHE=ETH12%29 337, 000 338, 000 341, 000 0. 0. L.
wmAE—1 wA—3 @AM RTFE)IFE8 5 3% 1 84+ 165, 000 166, 000 168, 000 0. 1. 1.
BT—1 JBIT— 6 LA FIE—TH1147%4 1 307, 000 308, 000 309, 000 0. 0. 0
WRFf—9 |HKM—6 |HEXFffimEE —-TH37%&2 204, 000 204, 000 205, 000 0. 0. 0.
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AN TOFEEMEFR MR THIEEREEMDME—E(EEH-ZE)

R (G E ' 2 B it () | Zomhish (1) | st it () %ﬁﬁfﬁﬁ;ﬁ: %ﬁ%ﬂ;ﬁ% %fﬁj'aﬁf;
TH#E— 3 THHE— 1 HEWHIL = TH9 7 7%&3 14+ 268, 000 269, 000 270, 000 0. 0. 0.
WA K — 3 RARA—1 1 | AR KTRNIREL T H 2 9% 2 185, 000 186, 000 187, 000 0. 0. L.
WARK—9 | WA K—5 | RARKTHNI—-THI4%19 246, 000 249, 000 251, 000 L. 0. 2.
BUEAT I — 8 BT IL— 1 |REAT LR —TH158%1 149, 000 150, 000 151, 000 0. 0. L.
%ZBE—5 %PE—8 ZEH—/FMTH13%13 255, 000 256, 000 257, 000 0. 0. 0.
ZE—-13 |[2E-26 [ZETEFHLTH25%22 185, 000 186, 000 187, 000 0. 0. L.
SE—14 |(ZE-18 |ZEHZHE838%F!1 186, 000 187, 000 188, 000 0. 0. L.
fgd—1 2  |f—11 | R REHETM> 1 2 8 3% 4 225, 000 228, 000 230, 000 L. 0. 2.
HELHH—3 |bE LW —4 |bEX 2B HMHTEN415%15 120, 000 121, 000 122, 000 0. 0. L.
PR —2 | — 1 |PETT SR U T H1 738% 1 4 320, 000 322, 000 324, 000 0. 0. 1.
FEHOL— 4 |FEHRER— 20 [FEARAEHRATIUTH2 23 7%4 229, 000 229, 000 231, 000 0. 0. 0.
Bk — 1 FinfE— 3 V5 2 ARG RERT R AR I 2 3 6 53 4 105, 000 105, 000 106, 000 0. L. L.
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R G e (5 ' e | seumsniints ) | Aoniied (1) | sEem st ) @iﬁ %ﬁfﬂﬂ;ﬁ% %f%%
TAHES —1 [ TRES—19 | TARERAONZTH 2 &S+ 21,500, 000|  21,900,000| 22,900, 000 1. 4. 6.
TS5 —17 [FRES—26 | TREXMEBENE - TH1E47 1, 560, 000 1, 600, 000 1, 680, 000 2. 5. 7.
TAME —18 [FRES5—29 | TAMEXEATIUTH 4% 2 4, 830, 000 4, 940, 000 5, 110, 000 2. 3. 5.
THm5—25 [TARES— 7 | TARBERME/IE—TH 1% 15+ 4, 120, 000 4, 200, 000 4, 350, 000 1. 3. 5.
5 —4 [R5 —16 |FRXAARGAITINTH1 5% 3 4, 240, 000 4, 360, 000 4, 480, 000 2. 2. 5.
i 5—9 [fks5—14 |hRXEE TH2%ES 1, 410, 000 1, 450, 000 1, 490, 000 2. 2. 5.
5 —13 [R5 -2 9 |hRREETH2%FL 9%+ 22,600, 000| 24, 300,000| 26, 400, 000 7. 8. 16.
5 — 14 [hdes5—2 |FhRREESTHAEL 34+ 14,800,000 15, 700,000| 17,700, 000 6. 12. 19.
5 —20 [PRE—20 |FRXAABATEI ZTH21%&10 1, 150, 000 1, 180, 000 1, 240, 000 2. 5. 7.
5 —4 B5—10 [BXEim _TH1IE9 1, 990, 000 2, 120, 000 2, 260, 000 6. 6. 13.
W5—5 W5 —1 BXHE—TH103%4 7, 830, 000 8, 290, 000 9, 020, 000 5. 8. 15.
W5—-18 |[#k5—7 XA TH1301%&54 3, 550, 000 3, 600, 000 3, 720, 000 1. 3. 4.
#5—-23 (#5—-12 |[EBXZXM_-TH201%&14% 1, 670, 000 1, 710, 000 1, 750, 000 2. 2. 4.
B1ES5— 10 |¥fE5— 15 [FrEXeiE =T H5%& 24 11,300,000/ 11,700,000 13,000,000 3. 11. 15.
FIES—11 [Hfs5—6 [FEXadESE —TH140%1 34+ — 1, 630, 000 1, 660, 000 — 1. —

FES5—13 |FE5—9 |FEXKESHE _TH6E 7, 500, 000 7, 750, 000 8, 200, 000 3. 5. 9.
FMES5—15 |FES5—8 |[FEXKUAE-THI1%S 3, 060, 000 3, 120, 000 3, 190, 000 2. 2. 4.
BES—17 |Fi1E56 —40 |[HrsXI¥iE —TH353%6 1 827, 000 840, 000 854, 000 1. 1. 3.
FIES —19 |[¥E5— 13 [HEXERIT1 1053 1, 160, 000 1, 180, 000 1, 200, 000 1. 1. 3.
BE5—26 |FEb—22 [FEXHE—TH31%28 1, 240, 000 1, 260, 000 1, 290, 000 1. 2. 4.
X5 —2 [m5—5 [CER/AAEIN—TH2%E5S5 1,670, 000 1, 700, 000 1, 760, 000 L. 3. 5.
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X5 —7 (5 —-9 |UHKFEBRA=TH42%15 930, 000 956, 000 990, 000 2. 3. 6.
HAHE5—6 |BH5-16 [AEK=/fm—TH9O0%A4 414, 000 417, 000 423, 000 0. 1. 2.
BR5—8 [BHRSE—7 |ARKEEB—-TH22%E2 1, 810, 000 1, 840, 000 1, 870, 000 1. 1. 3.
BHRS5—-17 [BHRS5—-5 |FHEXEARE THG66%E?2 914, 000 920, 000 933, 000 0. 1. 2.
BAHES5—21 B85 —13 |[AHXER T H-8&E44 903, 000 913, 000 928, 000 1. 1. 2.
BH5—22 [EH5—26 |[AHEHEEH—-TH15%1 3 857, 000 867, 000 876, 000 1. 1. 2.
FEH5—13 [BH5—-3 |BHXE_-THI3IE4L4S 572, 000 578, 000 584, 000 1. 1. 2.
TH5—8 [THE5—10 |[{LHXETF-THS8E1 44+ 620, 000 623, 000 634, 000 0. 1. 2.
)5 —10 |dI5—4 [MIKEKEZTHS56 1%1 2, 530, 000 2, 570, 000 2, 660, 000 1. 3. 5.
5 —12 |fI5—2 [MIKKHF=ZTH4L149%64 770, 000 790, 000 810, 000 2. 2. 5.
HE5—-3 |[A®R5—2 |EEREXKEHBR=TH1860%&6% 2, 700, 000 2, 760, 000 2, 850, 000 2. 3. 5.
HES5—-5 |HHB5—-4 |HEXMHRKF_-TH1138%&17 760, 000 770, 000 791, 000 1. 2. 4.
KHES5—7 [KEH5—-8 [KREAXANFE=TH1052%10 583, 000 589, 000 595, 000 1. 1. 2.
KH5—8 [KH5—22 | KHXHEHAI -TH4%E1 3 655, 000 660, 000 666, 000 0. 0. L.
KHE5—13 | KH5—17 | KHXEHHETH25%&24% 741, 000 749, 000 762, 000 1. 1. 2.
KHS5—16 [KRH5—7 [REHXKHELTHA4%E4 486, 000 490, 000 494, 000 0. 0. 1.
HHAS —9 [HEE5—16 |HHAXEEF—-TH2032%S8 700, 000 706, 000 712, 000 0. 0. 1.
A5 —10 [HHEAS —8 |HAXKELX )" TH17%6 735, 000 739, 000 751, 000 0. 1. 2.
BARS5—2 AL —15 [BMAKERE-TH12%1 3 2, 530, 000 2, 590, 000 2, 700, 000 2. 4. 6.
W5 —4 |BAS5—-12 [MAKEXK -TH21 3% 8, 400, 000 8, 630, 000 9, 130, 000 2. 5. 8.
BR5—5 |[BAS—3 |[BAXKBRTHIES 3, 740, 000 3, 820, 000 4, 050, 000 2. 6. 8.
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hEF5 —4  |hEF5 -4 |PEXPRUTHE34%15 750, 000 757, 000 777, 000 0. 2. 3
hEF5 —9  [hEF5 —2  |HEFXER—TH26 8%F84 673, 000 675, 000 682, 000 0. 1. 1.
Birs—2 [Bi5—8 |KIFKM{EARE—THS8 5% 34+ 605, 000 615, 000 627, 000 1. 2. 3.
Bills—10 [EIE5—6 |BIEKKktE—TH40%&L 14+ 550, 000 556, 000 570, 000 1. 2. 3.
Biis—11 [Bl5—4 |BUERPEAME=THT774%3 1, 160, 000 1, 200, 000 1, 220, 000 3. 1. 5.
BEH5—-8 [BE5—-18 |BEXMERKLTH3872%&44+ 625, 000 630, 000 635, 000 0. 0. 1.
BE5—-12 (8555 |BEXKMME_THITEL3 2, 360, 000 2, 420, 000 2, 530, 000 2. 4. 7.
BE5—-13 [B855—-9 |EEXKIRE_-TH12%3 920, 000 930, 000 948, 000 1. 1. 3.
ts5—2 5—-5 EXEFLZTHOIES 4 735, 000 742, 000 747, 000 1. 0. 1.
M5 —1 [FI5—4 PrlIKERAER=THI1338%14 584, 000 589, 000 600, 000 0. 1. 2.
w6 —8 [F)IS—3 PRINKMTE—THS0&2 94+ 449, 000 453, 000 458, 000 0. 1. 2.
WS —10 [R5 —4 [WEXKEN _-TE4%&29 4917, 000 498, 000 500, 000 0. 0. 0.
WS — 13 [HfES—9 [WEXKEEBE - TH6ET 816, 000 824, 000 840, 000 1. 1. 2.
MHE5—5 [WES5—7 |MEXRREE-TH115%&2 519, 000 523, 000 530, 000 0. 1. 2.
HWES—6 [#ES5—1 [HEXKEEIASATH1IEFLS 1, 030, 000 1, 030, 000 1, 040, 000 0. 1. 1.
B5—3 |BY5—6  |RYEXANRILET 9% 3 54+ 244, 000 244, 000 245, 000 0. 0. 0.
L5 —5  [BY.5—2 [BYXT{EMEAT4 5% 2 860, 000 878, 000 896, 000 2. 2. 4.
JENL5— 15 [BYV.5—16 [BVXKTOEHTH1E?2 385, 000 386, 000 387, 000 0. 0. 0.
w5 —1 |5 —4 [EAXSZA—TH233%34 503, 000 504, 000 508, 000 0. 0. 1.
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